20214E  A'S C ARIRMIX Y T 7 RHUKIKBEH R
A : 2021484 H4H (H) PN

Wi« A2 H H iR K 7 — /1 (50m)
No.6 BB+ 50m FjkE R A LL—RRE
L INEIFE »

1/2

B K 4 i B 2E KK =
1 KH i J S S5FIL /I 1/ 2 1:10. 11
2 A E R FEIR S S /N 2/ 2 1:11.99
e HeT JSSEE /I 1/ 7 K715
No.6 BBF 50m Fjk= A A L L— R R
L INE2E D>
B K £ ir B 2E KE i
1 WEE Kt KLWEEHHF /2 6/ 1 52.20 TH%
2 AR BEK vty A B S5 /N2 3/ 4 52.39 Tk
3 & A VIET 2 /2 4/ 5 55.10 5k
4 Nk B BIGT= /N2 3/ 5 58.17 4%
5 A2l HX VRET—E /]2 5/ 8 59. 08 3k
6 =ik FH J S S5F /N2 3/ 3 1:01.65 2%
T OREE M EffeE S C /N2 3/ 6 1:06.79 *F@)
8 HZH B V FET /N N2 2/ 6 1:06. 81
9 HH PR JSS—& /N2 1/ 5 1:07.99
10 V5)2 oo, J]SS—H /N2 1/ 6 1:27.69
& JSS—%& /N2 1/ 3 #&7.5
I S FEIR S S /N2 2/ 1 %K#1.2
Rl fE TUANEIT N2 2/ 7T %K¥71.6
No.6 BBF 50m FEjk=F BALL—RRE
L INFEIE >
B K 4 ir B 2E KK =
1 AH BK MY S4 5t /N3 6/ 8 51. 71 Tk
2[Ry 1&Ah Yo NI IEMN NS 6/ 5 52.22 TH%
3 =% MK MY S& %Rt /N3 6/ 3 52.82 6%
4 FEASARER JSS—g /N3 6/ 2 53.30 65
5 ik RE v — hSFIL /N3 5/ 1 53. 65 6%
6 /NI R PPN /N3 5/ 3 54. 04 (N
TR SR KLEEBH /13 4/ 4 55.08 5k
8 UK i MY S& %Pt /N3 5/ 6 55.78 5k
9 KH #F HERER S S /N3 4/ 8 56. 24 5%%
10 5K IRGEE KL&EHH /N3 4/ 1 56. 99 4%
11 Kl —%% Y A4SS /N3 3/ 1 1:00. 66 2%
12 FiE B EffFE S C /N3 3/ 2 1:02.83 1%
13 IS R V hET —5 /13 1/ 4 1:06. 95
No.6 BBF 50m k= B4 LL— R R
L INRAEFE >
BRI K 4 T & 2E KK B
1 &) KR MY S4& %z /M 8/ 5 45. 01 Tk
2 JIlE BEFH MY SA4%FRE /M 7/ 1 50. 46 4%
3 BB ZHE K L&ZEHH /N4 5/ 4 52.28 3k
4 /NE B FRIRS S /N4 5/ 2 52. 64 3k
5 #&H # KL#&EHH /N4 5/ 5 53.02 3k
6 Wt =% J]SS—& ! 7/ 8 54. 85 2%
TR B B — RS N4/ 2 54. 95 2%
8 FE EE T A NMEIT /N 2/ 4 1:00. 30
9 HEF HEK KLEERH /4 4/ 3 1:00. 42
10 Biff Bk FEIRS S /N4 2/ 3 1:05. 80
HAOBRKE:  4H4H 9:59



20214E A S CAREMKX Y T 7 xthikikiii Ka

WA :20214E4H4H (H)

24 FHHHIEA T — 1 (50m)

No.6 BBF 50m FEjk=F

K INEAFE >

B A L L— R R

2/2

BfL. K 4 i B BE KK =
Bk A VT 5= /M 2/ 5 K¥I1.5
b SRk VEET—H /M 3/ T KRIE1S
HH %t JSs—& M6/ 6 KIKT.6
No.6 BBF 50m Fjk=x B4 LL—RREE
L INEHE >
BfL. KK 4 B E KK i
1 BB &k ] SSHE /N5 11/ 6 39. 42 9%k
2 HH RE GRS S /N5 11/ 1 40.12 9%
3 L HAK Y% 4SS /N5 10/ 5 40. 38 itk
4 ITRE IR RS —=—X /N5 9/ 3 42. 60 TH%
5 g7 U7 Y4 S S /N5 10/ 7 43. 31 Tk
6 [P R J SSEHE /NG 9/ 2 43. 84 Tk
T HII A T A NEIT /b 8/ 1 44. 66 6%
8 ek fdpk MY S4&%F: /15 9/ 4 44. 71 6%
9 JIHARS AR BIGT = /NG 9/ 6 45. 35 6%
10 3k EH V FET /N /b 7/ 4 45. 55 6%
11 B 5EE2Y J S S5FIL /NG 7/ 5 46. 21 5k
12 13y B J SSHE /NG 8/ 3 46. 33 Y 4
13 HEbE 7% KL&FEHH /INB 8/ 8 46. 66 5k
14 A HEAE J S S5FIL /INB 8/ 2 47.18 5k
15 FiE H¥ J S S5F /NG 9/ 7 47. 47 5k
16 HAEEZIT VRET 2 /b 8/ 6 47.53 4%
17 ZJRI&IE KLEHFEHH /b 7/ 3 47. 68 4%
18 =5 & B — h5FIL /NG 8/ 7 49. 75 3%
19 ARk KER J SSEHE /NG 7/ 1 50. 71 3k
20 = WE/E JSS—%& /NG 4/ 6 55.16
21 UTHE IF= fEiIR'S S /NG 5/ 7 58. 89
No.6 BBF 50m Fjk= A A L L— R R
L INFOE >
Bf. KK 4 ir B FE KK i
1 BAT ZH 7 4 LR H N6 11/ 4 35. 71 10%%
2 IINEEAE K EA FEIRS S N6 11/ 5 36. 21 9%k
3 R FER e — RSFIL /N6 11/ 3 36. 91 9%
4 IS PREE B — h5F N6 11/ T 39.35 TH%
5 Ak JLAs fEiR'S S N6 11/ 2 39. 62 Tk
6 HH = JSSKHR /N6 10/ 4 39.97 Ttk
TEFE KLF&FHH /N6 10/ 3 40. 00 Ttk
8 FEH /A B — RSP /N6 11/ 8 40. 62 Tk
9 fTH i PERERS S /N6 10/ 6 41.82 6%
10 /g FEER AN /N6 10/ 8 42.58 5%
11 8 FE% JSS—& NG 7/ 6 43. 14 5k
12 QR ER YN NG 9/ 5 43. 32 5k
13 B HE KLWEERH /6 10/ 2 45. 08 4%
14 (o 7kiE 1toSWIM /N6 9/ 8 46.10 3%
15 &0 HEE KLEERHF /6 7/ 2 48.76 1%
16 & 55k PEKERS S /N6 8/ 4 50. 55
17 - h8f A7 A vt A B 5 NG 6/ 4 51.79
18 Wy AkE VEET 5 /6 6/ 7 52. 69
HAOBRKE:  4H4H 9:59



